
© Copyright Qualitätsmanagement 3W, Revision 4, gültig ab 01.10.2016 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Annex B 

3W-56iB2 CS 
 



 

 

2 3W-56iB2 CS 

1. SPARE PARS 
 

DISCRIPTION ARTICLE NUMBER UNIT 

Velocity Stack - Small 10.101.301 pcs 

Crankshaft 3W 56iB2 20.001.210 pcs 

Crankcase Kit 3W 56iB2 20.001.680 pcs 

Cylinder Assembly 3W 28i / 56iB2 / 112iB4 CS 20.002.215 pcs 

Piston Kit Ø 36mm 20.003.009 pcs 

Pistonring Ø 36mm 20.003.210 pcs 

Piston Pin 10 x 27mm 20.003.510 pcs 

Cylinder 3W 28i CS / 56iB2 CS / 112iB4 CS 20.003.815 pcs 

Piston Pin Needle Bearing 10x13x12,8 20.004.860 pcs 

Intake Housing 3W 48iB2 / 56iB2 20.006.208 pcs 

Carburettor Kit 3W 42i / 48iB2 / 56ib2 20.006.705 pcs 

Carburettor Arm 20.006.750 pcs 

Fuel Elbow Connector 90° 20.006.760 pcs 

Carburettor Needle H Walbro HDA 6A 20.006.800 pcs 

Carburettor Needle L Walbro HDA 6A 20.006.801 pcs 

Diaphragm Set Walbro HDA 6A 20.007.000 pcs 

Reed Carrier 3W-24i / 28i / 48i / 56i 20.007.600 pcs 

Reed 3W 24i / 28i / 48i / 56i 20.007.700 pcs 

Hub 3W 42i / 48iB2 / 56ib2 20.008.505 pcs 

Key 2x3,7mm 20.008.600 pcs 

Prop Disk 3W 42i - 112iB4 20.008.710 pcs 

Prop centre bolt 3W 42i/56iB2 - 212iB4 20.008.820 pcs 

Cylinder Gasket 3W 28i / 56i / 112iB4 20.015.010 pcs 

Carburettor Gasket Walbro HDA 6A 20.015.200 pcs 

Exhaust Gasket Gr. 1 20.015.800 pcs 

Intake housing gasket 3W 48iB2 / 56iB2 20.016.001 pcs 

Engine sticker 3W 56ib2 20.100.120 pcs 

Engine sticker Competition 20.100.480 pcs 

M5 * 45 Cylinder head hexagon socket screw 60.000.220 pcs 

ball bearing 608 LLU C3 60.015.000 pcs 

ball bearing 6001 LLU C3 60.015.020 pcs 

ball bearing 6201 LLU C3 60.015.080 pcs 

Twin ignition, IIS, 35cm 20.010.173 pcs 

Pick up sensor IIS, 30 cm 20.010.435 pcs 

Magnet 3 mm red 20.010.510 pcs 

Magnet 3 mm green 20.010.520 pcs 

   

   

 


